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  STD computed by HTSplotter
effect = -0.28_CellsOnly
effect = 0.03_GeneA
effect = -0.20_GeneAA
effect = -0.09_GeneAB
effect = -0.26_GeneAC
effect = 0.07_GeneAD
effect = 0.00_GeneAE
effect = 0.06_GeneAF
effect = 0.20_GeneAG
effect = -0.09_GeneAH
effect = 0.01_GeneAI
effect = 0.03_GeneAJ
effect = 0.18_GeneAK

effect = -0.09_GeneAL
effect = 0.20_GeneAM
effect = -0.04_GeneAN
effect = -0.07_GeneAO
effect = -0.08_GeneAP
effect = -0.07_GeneAQ
effect = 0.03_GeneAR
effect = -0.02_GeneAS
effect = -0.08_GeneAT
effect = -0.01_GeneAU
effect = -0.05_GeneAV
effect = 0.02_GeneAX
effect = -0.14_GeneAY

effect = 0.01_GeneAZ
effect = -0.04_GeneB
effect = -0.15_GeneBA
effect = 0.13_GeneBB
effect = 0.19_GeneBC
effect = 0.05_GeneBD
effect = 0.10_GeneBE
effect = -0.18_GeneBF
effect = 0.07_GeneBG
effect = -0.05_GeneBH
effect = 0.21_GeneBI
effect = -0.08_GeneBJ
effect = 0.35_GeneBK

effect = -0.10_GeneBL
effect = 0.13_GeneBM
effect = -0.18_GeneBN
effect = -0.11_GeneBO
effect = -0.12_GeneBP
effect = -0.04_GeneBQ
effect = -0.23_GeneBR
effect = 0.06_GeneBS
effect = -0.18_GeneBT
effect = -0.15_GeneBU
effect = -0.07_GeneBV
effect = -0.15_GeneBX

effect = -0.15_GeneBY
effect = -0.23_GeneBZ
effect = 0.00_GeneC
effect = -0.17_GeneCA
effect = -0.16_GeneD
effect = -0.24_GeneE
effect = -0.17_GeneG
effect = -0.15_GeneH
effect = 0.03_GeneJ
effect = -0.12_GeneK
effect = -0.17_GeneM
effect = -0.12_GeneN

effect = -0.22_GeneP
effect = 0.04_GeneQ
effect = -0.03_GeneR
effect = -0.21_GeneS
effect = -0.14_GeneT
effect = -0.19_GeneU
effect = -0.17_GeneV
effect = -0.13_GeneW
effect = -0.24_GeneX
effect = -0.20_GeneY
effect = -0.11_GeneZ
effect = -0.28_cellsonly

 cell line: CellLineName
Time point 48.0 h


